Lesson A #5
Ramulu Gajavada Saviskrtam Teacher

Application of 1* nominative declension (used as a subject)

Word 1% declension (as subject)

3TEHg asmad 31&H aham =1

gEHg yusmad <dH tvam = You

dg tad H: sah = He

dg tad Al sa = She

{H rama (m) {H: ramah = Rama

&R hari (m) Hari gR: harih = Hari

& guru (m) 16 guruh = Guru

&dl lata (f) o&dl lata = Lata

T gauri (f) T gaurl = Gaurl
aﬁqﬁﬂfﬂl&vakyanirmanam = Sentence construction.

Subject Verb

€ aharh TSI gacchami =1 go.

o4 tvam TS gacchasi = You go.

q: sah TS gacchati = He goes.

|l sa TR gacchati = She goes.

{H: ramah TT=S(d gacchati = Rama goes.

adl lata TS gacchati = Lata goes.

N gaurl TTEBId gacchati = Gauri goes.



SR udaharanani = Examples

S g ajah dhavati= Goat runs.

[SeTs: @Eid bidalah khadati = Cat eats.

TT1: =8I gajah gacchati = Elephant goes.

g%: &0 vrkah harati = Wolf takes away.

T A asvah dhavati = Horse runs.

TN TS gardabhah gacchati = Donkey goes.
T : @ varahah khadati = Boar eats.

ERUT: harinah dhavati = Deer runs.

JF: 9240 | vanarah pasyatil= Monkey sees.

TS A Srgalah jighrati = Jackal smells.

9A1: prasnah = Questions.

Translate the following sentences into Sarhskrtam.

Elephant drinks.
Cat smells.

Jackal listens.
Wolf eats.
Horse goes.
Donkey runs.

N G R

Boar drinks



8. Deer walks.

9. Monkey takes away.
10. Elephant runs.

11.. Jackal sees.

¥ldd: dhatavah = Verbal roots ERIRAG kriya padani= Verbs.

T'Elq\pib = to drink (fﬁaﬁr pibati = drinks).

$rn = to listen (Q'[UTT'I%T Srnoti = listens),

I%-I'E{\jighr = to smell (RTHId jighrati = smells),

TS gacch =to go (=3I gacchati = goes),

99 dhav= to run (‘Jlaﬁ'l dhavati = runs)

9% cal = to walk (%l?'a"l% calati = walks)

&L har = to take away (& harati = takes away)

979 pasy = to see (TN pasyati = sees)

2lsql: sabdah = Vocabulary

31§ ajah = Goat e: bidalah = Cat

iST: gajah = Elephant gd%: vrkah = Wolf

31%d: asvah = Horse e gardabhah = Donkey
d{&: varahah = Boar gRT: harinah = Deer

dF¥: vanarah = Monkey RJ(F)INS: Sr(sr)galah = Jackal



